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1. 3NofreE IereATer Maziatasl qEiaudr Rivmr faam sRieR smear
37) 2011-12 g 3w Iares Moz Gmasmadh) = STYRYa v 31e.
) HE AR FATGT IR e Moz (STFsTadn) Fazris g s3d.
%) AT IATEH, WIOTHR SAOT isT AT 3 HofiTed FAMNIE SRIGET 407 IR =T JHEET

2.

qAET 3T

1) IS I9 2) 37 MOT §
3) § 0T & 4) 37 OT &

Which of the following statements are correct about the Index of Industrial Production?
a) 2011-12 is base year of the Index of Industrial Production (IIP)
b) Central Statistics Office compiles and publishes the Index of Industrial Production (IIP)

c) It covers 407 item groups included into 3 categories viz. Manufacturing, Mining and

Electricity.

Answer Options:

1) All of the above 2) aand b
3) b and c 4) a and ¢

2.  WIOHIGUHT SVl 9= 9T 3TTe.
3) RATT Afges AR TROT 1948 AL SRR .
) AT (FrT o Ee) reT 1951 79 AT 0T ST
F) T MRS TRIMAT IReh 16T IRIST JART (AT enfor Mg e oo d
HITTT ATAT.
o) [y rdaRy=T a@aR IR Uee iR 9iRT SER &hed 0.
T 3R
1) 37 3(OT § 2) § AT &%
3) 37, § MO & 4) 3, T, H OT ©
Which of the following statements are correct?
a) India's first industrial policy was announced in 1948.
b) The Industries (Development and Regulation) Act was passed in 1951.
¢)The Industries (Development and Regulation) Act was passed to supplement the First
Industrial Policy.
d) The first industrial policy based on the principle of mixed economy.
Answer Options:
a)aand b b) b and ¢
¢) a, b and ¢ d) a, b, cand d
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3. WSIAUhI IANTAT TSTAIS HIOTAT IS TRATAIS 3TS ITT IJTRT=T ST AT8r?

1) ST, T Ugifosad 3TTOT ST arL
2) Uresre, Rwe snfor drs
3) i<, e, ATh arg T K== Jeare
4) G, HeTSSThe ATILZT TOT ARG [Ched
Which out of the following sets of industries is not a part of the eight core industries in
India?
1) Coal, Crude oil and Natural gas
2) Steel, cement and electricity
3) Coal, Fertilizer, Natural gas and Refinery products
4) Mining, Metallurgical Operations and Pharmaceuticals

4. SNFTE GIRT 1956 AR, IURTET STERT fohdl ITerTed FR0ATT ToT?
1) 4 2) 3
3)5 4) 2
According to the Industrial Policy Resolution 1956, in how many categories were the
industries classified in India?
1) 4 2) 3
3) 5 4) 2

5. 9 e 9T HHt SER HJe?
1) 14 S 1991 2) 24 S[5 1992

3) 24 I 1991 4) 24 ST 1991
When was the new industrial policy announced?
1) 14 July 1991 2) 24 July 1992
3) 24 July 1991 4) 24 June 1991
6. IR UIROT, 1956 =T I®T B B
37) RIS Fegl &R ITAHAT H0T, ENEESERECINIEIREEIR R TN
&) ETRIT ST SR el 3) A ST AR 1ot
T 3R
1) %<h 37 3MTOT & 2) Hth 3, & MOT ©
3) %th & 4) T<h 3, T ATMOT €

The objectives of the Industrial Policy, 1956 were .
a) to accelerate the rate of industrial growth.  b) to develop heavy industries.

¢) to expand the private sector. d) to expand the public sector.
Answer Options:

1) Only a and b 2) Only a, c and d

3) Only ¢ 4) Only a, b and d
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7. HIOTAT HATHATH CHAMPIONS (Creation and Harmonious Application of Modern Processes
for Increasing the Output and National Strength) portal 3= H 3T|%7
NEEREIGE] 2) TIOTST AIOT AT 1o T
3) 3I§H, B MTOT TH IJART HATHT 4) TSI JANT HATSHT
Which ministry has launched the CHAMPIONS (Creation and Harmonious Application of
Modern Processes for Increasing the Output and National Strength) portal?
1) Ministry of Finance
2) Ministry of Commerce and Industry
3) Ministry of Micro, Small and Medium Enterprises
4) Ministry of Heavy Industries

8. TSI TS YRUT 2011 & Ww 3R .
37 IATST &= 91 12-14 TSF94d dTedor.

) 2022 THT IATET ST 100 SITHET AR ASHIR FHOT .
&) YRAT AT TP STl aTaidor.
©) 2022 THd YRATEAT STELGT H TS L= 91eT 25% .

T 39T
1) Wb 37 3ToT & 2) Beh 3, & AT ©
3) AU I 4) Fh T MOT B

The main Objectives of National Manufacturing Policy 2011 are .

a) Increase the growth of manufacturing sector to 12-14 percent.

b) Creation of 100 million additional jobs in manufacturing sector by 2022.
¢) To increase the global competitiveness of Indian manufacturing.

d) Increase share of the manufacturing sector in India's GDP to 25% by 2022.
Answer Options:

1) Only a and b 2) Only a, b and d

3) All of the above 4) Only a and d

9.  YIRAId HIOTHT ISATET 31 9= 2023 st SisT AAGRT 2T &/9ar 20ma Faitds 3e?

1) HERTY 2) TeTIT

3) A 33T 4) FHACH

Which state has the largest installed electricity generation capacity on 31 March 2023 in
India?

1) Maharashtra 2) Gujarat

3) Madhya Pradesh 4) Karnataka
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10.  HIoTT IN7 R IATEATAT N €% -0.1 <85 SRUNHS Blam?

1) 2012-13 2) 2013-14
3) 2014-15 4) 2016-17
In which year the rate of growth of Industrial production was negative at -0.1 percent?
1) 2012-13 2) 2013-14
3) 2014-15 4) 2016-17

11. 9% 3 AT FEHT HYl & AR

1) 25 IR 2014 2) 2 3= 2015
3) 11 3AFErER 2016 4) 15 S5 2015
When was 'Make in India' programme launched?

1) September 25, 2014 2) October 2, 2015
3) October 11, 2016 4) July 15, 2015

12. WAESHS dATde IanTer Fejaaudrdeia 1993 T Yeieudhl hivrar AfdH Tgars
TG HA?
1) 99 S |mdr 2) VRIS I¥er
3) TRTAE AT 4) R, U, Heg =T AT
Which of the following committee submitted a report in 1993 regarding disinvestment of
public sector enterprises?
1) Bimal Jalan Committee 2) Rangarajan Committee
3) Narasimha Committee 4) R. N. Malhotra Committee

13. WSIAURT HIOTA/al & hacs ATTSI-eh SRATST IETT AT/

1) STUTSIT STTTOT e 3TURZE 2) A e gue ey

3) T T fouge 4) NA=e&roT famr SnfoT Fegtenr
Which of the following sectors is/are reserved only for public sector?

1) Atomic Energy and Railway Operations 2) Mass Rapid Transport System
3) Coal and lignite 4) Defence aircraft and warships

14. ST AT WG DHIoTAT HofTdie ITRTHAT [IYRasT HoardT IgaT 3Me?

1) & AT &Y IR 2) WA JURT

3) STS IANT 4) FEHT I

'‘Mudra' scheme is aimed at financing which of the following category of industries?
1) Micro and small enterprises 2) Medium enterprises

3) Heavy industries 4) Cooperative industries
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15. MRTP ST 1969 A5 'MRTP' & Widel Fd JoT & HI0Td 3TTe?

1) Money Reservation Trade Practices Act

2) Monopolies and Restrictive Trade Practices Act

3) Monopolies Reservation Trade Practices Act

4) Monopolies and Restrictive Trade Policy Act

Which of the following is the correct full form of MRTP' in MRTP Act 1969?
1) Money Reservation Trade Practices Act

2) Monopolies and Restrictive Trade Practices Act

3) Monopolies Reservation Trade Practices Act

4) Monopolies and Restrictive Trade Policy Act

16. STSTRT JALTAT GASIEAITST UM JoAGugRITS! i 3oy o7fdes gasa-r H#eas
(B.LER) __ ISi & AT 31T,
1) 1986 2) 1987
3) 1988 4) 1989
Board for Industrial and financial Reconstruction (B.I.F.R) to suggest measures for revival of
sick industry was started in___ .
1) 1986 2) 1987
3) 1988 4) 1989

17. HERTE IMAATEAT SR 9ROT 2019 9K,
) 10 BT RIS FUIATH THOT JATH 3T 3R
) AT 2023-24 THT AR 40 B AR M 3 T0ard 31 31M=.
RIDTICIES
1) %th 37 =R 2) eh & SRR
3) 37 M7 & SRR 3R 4) 3 JAMOT el AR

As per the Maharashtra Government's Industrial Policy 2019,

a) total investment worth Rs. 10 lakh crore was expected.

b) It also aimed creation of about 40 lakh jobs by 2023-24.
Answer Options:

1) Only a correct 2) Only b correct

3) a and b are correct 4) a and b are incorrect

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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18.  2022-23 AT IYHHITT XS hebdT RAMP hIdshH AT HaTdd 3TTe:
1) FIEHR TS TUTHBAT dTedl.
2) THUAUAE S3TdI0 ThdT aredl.
3) o5, IRIER AT SAMOT FAAGT A= qr9oT 9RO FHRO.
4) FHT HATAIS FTITHBAT IS,
The RAMP programme proposed in the budget 2022-23 is related to:

1) boosting competitiveness in the cooperative sector.
2) boosting competitiveness in the MSME sector.
3) improving nutritional outcomes for children, pregnant women and lactating mothers.

4) boosting competitiveness in the Agriculture sector.

19. G [Ty =R =m.
3 AESIHS GAAIG IUHAAT HERE, Ta93d 0T HHRE=T <17 aiforsy anfor 39T
HATHATR G QT ST,
) 2023 TS HRAT, ARBRA JAdg hhdl Hald A —E dF ITHHAIS (CPSE) 13

YERd $hy=aT 3ed.

TR FaEE) 3.
1) %tk 3T 2) &th &
3) 37 AMOT & 4) IASIRT Thal ATal

Consider the following statements.

a) The status of Maharatna, Navaratna and miniratna to public sector undertakings is given
by the ministry of commerce and industries.

b) As of 2023, India has 13 Maharatna companies, which are among the Central Public
Sector Enterprises (CPSEs) listed by the government.

Identify the correct statement(s)

1) Only a 2) Only b

3)aand b 4) None of the above

20. VRATIG RIoh ITUPTHSHIT, WISTHURT hIvTdT SIS AT 3Te?

1) IIRIRT — 3NTSZM 2) PR - IMHH S

3) ASH - AMHSTG 4) 3THAT - T TS

With reference to the steel plants in India, which of the following pairs is incorrect?
1) Bokaro — Odisha 2) Durgapur - West Bengal

3) Salem - Tamil Nadu 4) Rourkela - West Bengal
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21. RO MY HRrETd WioTSddh! hIvTAT HATTHIST "3l Hal for S=-Tds 2"

I | SIA?
1) 1951-1965 2) 1966-1980
3) 1981-1991 4) 1992-2011

Which of the following period of "industrial Deceleration and structural Retrogression” in
Indian economic development?

1) 1951-1965 2) 1966-1980

3) 1981-1991 4) 1992-2011

22. YRATIG J&H, Y 30T THT (MSME) JTRTITISAT WIATGUhT hioTdT [T SRIER 3Ted?
3T) 2021-22 A ARATAT Ahes eAdTeld (GVA) MSME &ATHT dTeT AR 29.2% 318,
) 2022-23 T Fq YRAT FaTdEe MSME FEs 3ameiar MardeT a1er 43.6% gidrT.
%@wwﬁw 73 T BRI, 2015-2016 T RATAIG MSME I T&AT 633.8 BTE
T I
1) ISR T 2) 31 for &
3) § MO & 4) 3 AT &
Which of the following statements are correct about MSMEs in India?
a) The share of MSMEs sector in India's Gross Value Added (GVA) is about 29.2% in 2021-
22.
b) The share of export of MSME specified products in all India exports during the 2022-23
was 43.6%.
c¢) As per the National Sample Survey 73rd round in 2015-2016, there were 633.8 lakh
MSMEs in India.
Answer Options:
1) All of the above 2) a and b
3) b and c 4) a and ¢

23, aﬁaﬁﬁaﬁﬂﬁ/ﬁ %HW/#W aﬂ‘%/ﬁ?
@T e-||\T|"|tl dl&g dH‘i‘f-llcid/ IGI"I "IIQUIIGJ_')('I OSIA] d‘r’JI’IUT’JI"II IOIK‘I ‘i{cldl °h<U|

%mﬁeﬁw CTETe He) WU Biedl APl YT ewqTodid WiTar sheoar<r ufishar

RIS ES
1) 7 nfor & 2) Bk 3T
3) h § 4) TGS HIOTIT ATar

Which of the following statement/s is/are correct?

a) MUDRA scheme aims to provide finance to unorganised/unregistered small scale enterprises.
b) The 'Missing Middle' implies a weak process of graduation of small firms.

Answer Options:

1) aand b 2) Only a

3) Only b 4) None of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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24.  TIRATIG TEAETT FEFSHT ITHH AT FHROTAT FRAT AT TR,

31 HUAT TR HATHT ) Rere 9= aﬂ‘ih“g%m
%) o 99meT SEICINEREEIREEICE]
tm‘reﬁ IR
1) 3 smoT 2) ¥ 3nfor %
3) & 3T © 4) TG I9
The following agencies are that controlling the activities of multinational corporations in
India.
a) Ministry of Company Affairs b) Reserve Bank of India
¢) Ministry of Finance d) Ministry of Industrial Development
Answer Options:
1) aand b 2) b and c
3)cand d 4) All of the above
25. HYIAPTAT AT WATEART IISST U WIAIGUHR! B! AT Shosl Iol?
1) SYIANT TR el 2) el STIfeT UTAIINT 31
3) MBI FYIANT AEHSH 4) diEr T 99

Which of the following was established to support export promotion of small scale industries?
1) Small industries Development Organization

2) Khadi and Village Industries Commission

3) National Small Industries Corporation

4) Technical Development Cell

26. 2T ERRETHR UIEIATSToAT HEHTd, WIees [ feemrd =i,
M) TG TIRREHR UTSIE- ﬂﬂ?lﬁ?'? LRI =T [ARRIIEST 2020-25 4T
102 T SIS THUT Foie YA hey e,
) Jisgel WA hy, T STOT WA SIATET 91T 39:39:22 372,
) AMA] ThAdl AT AJATEAG TR BITAT JoAaR IR T2HG TIhRGFR
RUTIAT HRUATA AT,

T 39
1) RIS T 2) Hh I
3) 31 Infor 4) FTh &

With regard to the National Infrastructure Pipeline, consider the following statements

a) The National Infrastructure Pipeline has proposed an overall budget of Rs 102 crores for
the period 2020-25, for infrastructure development in India.

b) The share of the Centre, States and the private sector in the capital expenditure is
39:39:22 formula.

¢) National Infrastructure Pipeline was constituted based on the suggestions of the task
force led by Mr. Atanu Chakraborty.

Answer Options:

1) All of the above 2) Only A

3) A and B 4) Only C
heAl T:HI'HTHIE"‘I S / SPACE FOR ROUGH WORK P.T.O.
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27. O 2014 A, AT WP J[AFRRT URAT0IT ot
1) ZTETH STOT SIS 2) 39T il
3) SHIEAT 30T fosuTge 4) s YT g
During 2014, private investment in___ was allowed.
1) Arms and Ammunition 2) Atomic energy
3) Coal and Lignite 4) Rail infrastructure

28. Yo HATHATEAT YoT ATSHIAT SHu-T Sfeehee the HiRER Hiueae it gfear s (DFCCIL)
IV WTYAT YT HITCT, 1956 AT IUST HROGTT TSI
1) 25 ST 2009 2) 30 3AfFeISR 2005
3) 30 JFTIIER 2006 4) 30 I 2008
The Dedicated Freight Corridor Corporation of India Ltd. (DFCCIL), a fully owned company
of the Ministry of Railways under the Companies Act, 1956, was set up on:
1) 25 June 2009 2) 30 October 2005
3) 30 October 2006 4) 30 March 2008

29. _ 3fcId AHIOT Uram A giadr 9 Mt (RIDF) TR $Roard e 3TR.
INEL BIELS)
3) FNI HATHT 4) ITAIAHT HATHT
The Rural Infrastructure Development Fund (RIDF) has been created under
1) SEBI 2) NABARD
3) Ministry of Agriculture 4) Ministry of Rural Development

30.  100% ohg TRBRA UTNRIS sl IHIOT RO 2015 U I SToho! @Il
IV TS 322
1) SIS IUTATT U SATal ATSTT 2) TIHHAT ATH ST JroT=T
3) TUTHT 3597 FTSTT 4) 359G TR I
Which of the following is a 100% central government piloted rural electrification scheme
launched in 2015?
1) Deen Dayal Upadhyay Gram Jyoti Yojana 2) Pradhanmantri Gram Jyoti Yojana
3) Pradhanmantri Ujjwala Yojana 4) Ujjwal Bharat Abhiyan

31. 9797 Aol WA (AT IR,

1) 3R =TT 2) Tty sfdes &=

3) HITRdT H&ToT 4) AZHIRT TRAT

Baba Kalyani Committee is related to:

1) Virtual Currency 2) Special Economic Zone
3) Data Protection 4) Cooperative societies
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32. 1991 FaR HERTE AT 419 i 4iRor St 9ifva Feb?
1) 1992 2) 1993
3) 1994 4) 1995
When did the 'Government of Maharashtra' announce a new industrial policy after 1991?
1) 1992 2) 1993
3) 1994 4) 1995

33. Qoo [aUHER [TER &l
37) B3 TTITUE BN SThe HERTY A es! HEMDT & Hag o ARTYR JHT STredl.
) g HgE0T 701 TRHT. BT IR,
%) HERTETAIS 36 Uehl 24 TSier AT BRe-goh Aeahg} Slied S,
©) AT YehodTaT THOT STuferd e 55,335.32 HiST 3R,
TASURT HIOTd T SRS 3TE?
1) %<k 3T 30T & 2) Wth & SO &%
3) Hh 3F 0T & 4) 3, §, & AOT
Consider the following statements:
a) Hinduhruday Samrat Balasaheb Thackeray Maharashtra Samruddhi Mahamarg will connect
Mumbai and Nagpur.
b) This Highway covers 701 km of distance.
¢) 24 out of the 36 districts in Maharashtra will be connected through this fast-track
network.
d) Its estimated construction cost is Rs. 55,335.32 crores.
Which of the statements given above are correct?
1) Only a and b 2) Only b and c
3) Only a and ¢ 4) a, b, cand d

34, HERTETAT HIOTAT ANHRIE F=mar I Qg - H98 TeRes® RRSRTH H0ard ST

3TE.

3 e ) fedr se7

&) AT HEHERT ) =g foefe
T 3R

1) 37 3o & 2) § 0T &

3) 37 AT 4) ¥ 3AMOT ©
Which industrial zone of Maharashtra is included in Delhi-Mumbai Industrial Corridor?
a) Mihan Project b) Dighi Port

¢) Samriddhi Highway d) Shendra Bidkin
Answer Options:

1) aand b 2) b and c
3)aandd 4) b and d
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35. EUSUST GAGU WSROl IUTIAT_ T ST,

1) 1991 2) 1985
3) 1995 4) 1999
Slum Rehabilitation Authority was established in:

1) 1991 2) 1985
3) 1995 4) 1999

36. MR WRGRA __ ATl 9raTd (9RO ==l IATIAT e,

1) ST=ETT 1993 2) T 1995

3) ST 1997 4) T 1997

The Government of India set up the Infrastructure Development Finance Company in
year .

1) January 1993 2) April 1995

3) January 1997 4) April 1997

37. APRATST YheqTaTad Qoid U =R«
37) BT Uhed e, STErST dTadeh 30T SIGHPT HATSATEAT 3T g% Hudrd 31Tc 318,
) IRATAS §e2 STeuT STOT 3ienfres aTeRITer Tere T de=ie STYHHhIoT HRoT, TaT
Sex HATOT RO aNToT AIEARIAT UTRTeTor 29T =1 A7 it 83T Brdl.
RIS TS
1) 37 3MTOT § SRR 2) th F SRIE%
3) Thth & SRIEY 4) 37 70T § I

Consider the following statements about the Sagarmala Project.

a) It has been launched under the Ministry of Ports, Shipping and Waterways.

b) The objective of the scheme was to link the ports of India and modernise the existing
ports for industrial growth, create new ports, and also train the fishermen.

Answer Options:

1) a and b are correct 2) Only a is correct

3) Only b is correct 4) a and b are incorrect

38. IS TISTHT WISIAUhl hMRT HeTad 3Me?

1) I&T SR 2) g UReRie wHfaefeer

3) B3 TTHEATE WRIeToT 4) Iodd fagerenzoT

UDAN Scheme is related to which of the following?

1) Road Construction 2) Regional Connectivity through planes
3) Training fighter jets 4) Electrification of Railways

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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39. JUTTHEAT YR SISl ISl halmsl deiad Te?
1) JTHIOT I STeoir
2) THTOT SO 37T R SArSofy
3) T FMEX LT FAEMAEIE Sevt
4) F9 AEETE! thy IRERIET STEUr
Pradhan Mantri Bharat Jodo Yojana related to?
1) Construction of rural roads
2) Linkage of rural and urban roads
3) Connecting major cities with highways
4) Connecting all important centers with each other

40. WSIFUR RO gk TR FHT SRIGHA 9FT 3T2d?

3n = ) AT fagere=or
%) ATHOT IEHATOT ) UTHIOT 3

IO ITR-

)9, <, € 2) A, 9, S

3) 3, d, %, S 4) 3, h, §

Which of the following components are part of Bharat Nirman programme?
a) Irrigation b) Rural Electrification
¢) Rural Housing d) Rural roads
Options-

1) b, c, d 2) a, b, d

3 a,b,cd 4)a, c d

41. PMGSY 3.0 9E& Qo [I4d gehrd 3TTE?
1) PMGSY-III FIST=37ddrd, s 1,25,000 [HET STaE I8 Tshisid Hoam=T Y9 3R,
2) T ATHIOT FN AR (GrAMs), I ATATHE ST 0T FOMHT AT SISV HFT S71for
TS ATHIOT g Tehat 0T FHAIE e,
3) 8 SIMAheley ST IAMOT RATIS Wezr Nfor IARMEE AT TsIidTer 90:10; d= X 99
ITSTTATET Shg SATTOT ST 60:40 AT YAV 4T AEa e
4) TS I [T TR AR,
Which of the following statement about PMGSY 3.0 is incorrect?
1) Under the PMGSY-III scheme, it is proposed to connect 1,25,000 km of roads across
states.
2) This includes linking rural agriculture markets (GrAMs), roads connecting high schools
and hospitals, and major rural links.
3) The funds would be shared in the ratio of 60:40 between the Centre and State for all
States except for 8 North Eastern states and Himachal Pradesh & Uttarakhand for which it
is 90:10.
4) All the above statements are correct.

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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42, WTSIHUHRN HIUTAT ST IR BT MRd?

31 TYTHEAT AT FisT0 2000-2001

) ITedT IRT HAHT FRIHH 1975

&) A 3T UM AT 2 3faER 2014
€) g1 2005

qI7-

1) & 2) ¥, %

3) 3,9, 4) A,
Which of the following pairs are correctly matched?

a) Pradhan Mantri Gramodaya Yojana 2000-2001

b) First Twenty-Point Program 1975

¢) Sansad Adarsh Gram Yojana 2 October 2014

d) PURA (Provision of Urban Amenities in Rural Areas) 2005

Option-
1) c 2) b,c
3)a, b, d 4) a, c

o

43. S5 1932 FH JRIhUeh! HIVTAT Shu-M TRATAIG dfgedl A qEgehral gHard hol?
1) R~ sewis 2) TR rear
3) 2TeT T3RGIEA 4) TSTTST QIRATEH

In July 1932, which of the following company started the first air transport in India?
1) Reliance Industries 2) Air India

3) Tata Airlines 4) Bajaj Airlines

44. BT STEHPT - 1 WTSTHURT HIoTd SHIOT SHed?

1) HIGTRH o HigH 2) AT o si

3) gfeear I TR 4) gfeear T RiGHEr
National WaterWay — 1 connects which of the following places?

1) Kottapuram to Kollam 2) Sadiya to Dhubri
3) Haldia to Allahabad 4) Haldia to Kolkata
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45. STredT S,
ElIRER LTIT
37) Telecom Regulatory Authority of India (i) 1995
o) National Highway Authority of India (i) 1986
<h) Airport Authority of India (iii) 1988
8) Inland Water Authority of India (iv) 1998
T 3T

3T El % S

1) iii i iv ii
2) ii iv i iii

3) i iii iv ii
4) iv iii i ii
Match the correct.

Authority Establishment
a) Telecom Regulatory Authority of India (i) 1995

b) National Highway Authority of India (ii) 1986

c) Airport Authority of India (iii) 1988

d) Inland Water Authority of India (iv) 1998

Answer Options:
a b C d
1) iii i iv ii

2) ii iv i iii
3) i iii iv ii
4) iv iii i i

46. AMRUT ITSTHEES WISIHUhI HIvTd [ SR 31g/d?
3) I AT OT S ST [z uhweRiEl Stiedses Ared.
) ST ASHT TS IEITAT JTEIATST 0T fIRRATAEST IrT I90TR 3TTE.
PR IDIIREES
1) %th 3T 2) Ohth &
3) 31 3NfoT § 4) IAHUST FHIUTdR! ATel
Which of the following statements is/are correct about AMRUT scheme?
a) AMRUT scheme and Smart Cities Mission are interlinked.

b) AMRUT will lay the foundation for smart cities to grow and develop.
Answer Options:

1) Only a 2) Only b

3) aand b 4) None of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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47. HRIDAY (T3M 2Rt el SE@Tde 3 ATTHIZT TS HivTAT GATSITAT (T Ia?

1) HURE FIER HATHY 2) YT AT

3) 31T HATHT 4) IR 0T e FIER HATHT
HRIDAY (National Heritage City Development and Augmentation Yojana) comes under which
ministry?

1) Ministry of Corporate Affairs 2) Ministry of Tourism

3) Ministry of Finance 4) Ministry of Housing and Urban Affairs

48. WTAGUSR! BIVTAT YHRAT AT AfTITAT [TRRARATST RS IRBRA GATIT TTelT ZRhY
ATSTHT = hodl 3TR?
1) 2T 3mfer f2refor 2) TR
3) HUT 1T 4) AEIH
The Prime Minister ‘Gati Shakti’ scheme is launched by the Government of India for which
type of infrastructure development from the following?
1) Schools and education 2) Hospitals
3) Agricultural production 4) Transport

49. WTAHGUSRT HIOTAT T TRAT I e faxirr o 7afed (IFCL) It STa=T STesr?

1) 2005 2) 2002

3) 2001 4) 2006

In which of the following years was the Indian Infrastructure Finance Company Limited
established?

1) 2005 2) 2002

3) 2001 4) 2006

50. W5 9o =R =i,
37) SNT¥eh AT FodT IATET 0T fIa=0T Tegdid RIS
) AT IR GiodT IS Ulshdd dTgwe- IRTEH 3dTd.
) HUh Tegl &F SN 37foT ArIfores U e a7 S Hefed AT ST,
FAGUIRT BT/l e/~ a=IaR sre/a?
1) § 3o & 2) 37 MfOT §
3) th & 4) TS IT
Consider the following statements.
a) Economic infrastructure is located within system of the production and distribution.

b) Social infrastructure contributes to the production process from outside the system.
¢) Communication system is treated as both economic and social infrastructure.
Which of the above statement/s is/are correct?

1) b and ¢ (2) aand b

3) Only b (4) All of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.



